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THE BEEF WITH BEEF

Customer Karla was grocery shopping. She came to the meat
counter and asked Kenneth for $12 worth of ground pork.Ground
pork was priced at $800 per pound. Karla suggested Kenneth
start with measuring two pounds; since $12 was 5o much more
then S8, it would have to be at least 2 pounds of mezt. Kenneth
told the customer it would be less than 2 pounds of meat.

Which one of them is correct? Explain how you know.

5.NFB.5b
About this standard

Interpret multplication
as saling (resizing) by
explaining why multiplying
agiven number bya
fraction greater than 1
results ina product greater
than the given number
(recognizing multiplication
by whole numbers greater
than 1 35 a familiar casel;

Who s correct?

explaining why multiplying Karla Kenneth
2 given number bya
fraction less than 1 resultsin Explain how you know.

2 product smallerthan the-
given number; and relating
the princple offraction
equivalence afb = (nx
al/ln xb)to the effect of
multiplying a/b by 1.
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